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APTITUDE TEST FOR DIPLOMA HOLDERS IN PHARMACY
wRE H femaT arent & faw srfwste wiieror

Tincture iodine is

(A) aqueous solution of iodine

(B) alcoholic solution of iodine

(C) solution of iodine and KI in
mixture of alcohol and water

(D) solution of iodine in aqueous K

Eugenol is present in
(A) Fennel
(C) Cardamom

(B) Tulsi
(D) Coriander

The amount of barbaloin present in
Aloevera leaf is

(A) less than and equal to 1%

(B) 35-4%

C) 1-5%

(D) 2-25%

Identify the drug which is NOT used
in the treatment of malaria caused by
Plasmodium falciparum.

(A) Artemisinin

(B) Primaquine

(C) Quinine

(D) Mefloquine

The chemical behaviour of morphine
alkaloid is

(A) acidic

(B) Dbasic

(C) neutral

(D) amphoteric

What is chemotaxis ?

(A) Toxicity of chemicals

(B) Taxonomy of chemicals

(C) Inhibition of inflammation

(D) Movement of leucocytes in
inflammation

Which of the following is
incorporated in gelatin used for
making capsules of drugs and
pharmaceuticals, in order to improve
the elastic behaviour of gelatin ?

(A) Polyethlene glycol

(B) Sorbitol

(C) Polypropylene glycol

(D) Dibutyl phthalate
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Which of the following schedules
include shelf life of drugs ?

(A) Schedule F
(B) Schedule M
(C) Schedule G
(D) Schedule P

Department of Transport Test (DOT)
is performed for which of the
following ?

(A) Strip packing

(B) Aerosols

(C) Injection packing

(D) Glass containers

What quantities of 95% v/v and
45% vl/v alcohols are to be mixed to
make 800 ml of 65% v/v alcohol ?

(A) 480 ml of 95% and 320 ml of
45% alcohol

(B) 320 ml of 95% and 480 ml of
45% alcohol

(C) 440 ml of 95% and 360 ml of
45% alcohol

(D) 360 ml of 95% and 440 ml of
45% alcohol

Guggul lipids are obtained from
(A) Commiphora molmol

(B) Boswelia serrata

(C) Commiphora wightii

(D) Commiphora abyssinica

The temperature conditions for

storage of drug products under cold

condition is given as :

(A) Temperature between 8 deg and
25 deg centigrade

(B) Temperature below 2 deg
centigrade

(C) Temperature at 0 deg centigrade

(D) Temperature between 2 deg and
8 deg centigrade
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Which one of the following is not an

ex-officio member of Pharmacy

Council of India ?

(A) The Director General of Health
Services

(B) The Director of Central Drugs
Laboratory

(C) The Drug Controller General of
India

(D) The Director of Pharmacopoeia
Laboratory

The Schedule in Drugs and
Cosmetics Act that deals with the
requirements and guidelines for
clinical trials, import and
manufacture of new drugs is

(A) Schedule “O”

(B) Schedule “M”

(C) Schedule “F”

(D) Schedule *Y”

Schedule FF contains the following:
(A) Drugs which can be marketed
under generic names only

(B) Drugs which are habit forming

(C) Standards  for  ophthalmic
preparation

(D) Drugs which are exempted from
certain provisions applicable to
manufacturing

The rate limiting step in cholesterol
biosynthesis is one of the following :
(A) LDL-receptor concentration

(B) VLDL secretion

(C) Mevalonic acid formation

(D) Co-enzyme A formation

Acetyl choline is hydrolyzed by
enzyme

(A) Acetylase

(B) Cholinase

(C) Acetyl cholinesterase

(D) Transferase

Diclofenac belongs to

(A) Aryl propionic acid derivative
(B) Aryl acetic acid derivative
(C) Pyrazolon derivative

(D) Para amino phenol derivative
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Water for injection differs from
sterile distilled water as it is free
from:

(A) Carbon dioxide

(B) Pyrogens

(C) Preservative

(D) Antioxidant

As per GMP, permitted limit of solid
content in water for injection is :

(A) 100 ppm (B) 1.0 ppm
(C) 0.1ppm (D) 10.0 ppm

Water insoluble coating material for
encapsulation is:

(A) Ethyl cellulose

(B) Polyethylene

(C) Polyamide

(D) All the above

Shrinkage of gel by exclusion of
liquid is called:
(A) Syneresis
(C) Plasticity

(B) Dilatancy
(D) Ebullition

Rate limiting step of controlled

release system is

(A) Absorption of drug in body

(B) Release of drug from dosage
form

(C) Elimination of drug from body

(D) Distribution of drug in body

BCG vaccine I.P. is a

(A) liquid product

(B) white turbid suspension
(C) Freeze dried solid

(D) Both solid and liquid

A specimen obtained from a patient’s
cerebrospinal  fluid, cultured in
specialized media for about five
weeks showed the presence of bent
rods and tested positive with Ziehl-
Neelsen reagent. ldentify the
organism.

(A) Niesseria meningitides

(B) Myobacterium tuberculosis

(C) Bacteroids fragilis

(D) Leptospira interrogans
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Microbiological assay of Bacitracin

I.P. is carried out at:

(A) Incubation temperature 32-35
deg centigrade

(B) Bacillus subtilis is used as an
organism

(C) Micrococcus luteus is used as
an organism

(D) Incubation temperature 35-37
deg centigrade

Rauwolfia belongs to the chemical
class of

(A) Indole alkaloids

(B) Isoquinoline alkaloids

(C) Tropane alkaloids

(D) Quinazoline alkaloids

Hydrolysis of cocaine gives
(A) Ecgonine

(B) Methyl alcohol

(C) Cinnamic acid

(D) Both (A) and (B)

Surface of belladonna leaves shows

numerous minute prominences of

(A) Prism of calcium oxalate

(B) Clusters of calcium oxalate

(C) Idioblasts of calcium oxalate

(D) Conglomerates of calcium
oxalate

Papeverine is used primarily for its
ability to produce

(A) Analgesia

(B) Vasodilation

(C) Emesis

(D) Skeletal muscle relaxation

Drug which has revolutionized
kidney transplantation is

(A) 5-FU

(B) Azathioprine

(C) Steroids

(D) Colchacine
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Vitamin K is associated with

(A) Pellagra

(B) Nerves

(C) Haemoglobin concentration
(D) Blood clotting

Epinephrine elevates the
concentration of Glucose by

(A) Decreasing the uptake of
Glucose by peripheral tissues

(B) Stimulating glycogenolysis
(C) Inhibiting insulin secretion
(D) All of the above

A patient on medication develops
severe hypertension after eating some
cheese.  The  combination  of
substances found in the cheese and
medication, respectively, which is the
most likely cause of this reaction is

(A) Ergotamine and Amphetamine
(B) Acetylcholine and Reserpine
(C) Tyramine and Phenelzine

(D) Dopamine and Phentolamine

Tachphylaxis is

(A) A drug interaction between two
similar types of drugs

(B) Very rapidly  developing
tolerance towards a drug

(C) A decrease in response towards
a drug

(D) None of the above

Which of the following is sulphur
containing amino acid ?

(A) Cysteine

(B) Methionine

(C) Tryptophan

(D) Both (A) and (B)
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The following enzyme reaction is

biotin dependent

(A) Pyruvate carboxylase (Pyruvate
to oxyloacetate)

(B) Pyruvate dehydrogenase
(Pyruvate to acetyl Co A)

(C) Pyruvate glycinate
(Phosphoenol pyruvate to
pyruvate)

(D) None of the above

Pernicious anemia is caused by

(A) Inadequate intake of vitamin B,

(B) Deficiency of ascorbic acid

(C) Absence of the intrinsic factor
in the gastric juice

(D) Over production of intrinsic
factor

Highly branched three dimensional
macromolecules  with  controlled
structures with all bonds originating
from a central core are known as

(A) Cyclodextrins

(B) Dextrans

(C) Dendrimers

(D) Liposomes

The applicability of Noyes-Whitney
equation is to describe

(A) First order kinetics

(B) Zero order kinetics

(C) Mixed order kinetics

(D) Dissolution rate

The synthesis of glucose from non-
carbohydrate precursors takes place
in

(A) Gluconeogenesis

(B) Glycogenolysis

(C) Pentose phosphate pathway

(D) Citric acid cycle

Hematological testing of a patient
with AIDS is most likely to show
which of the following abnormalities ?
(A) Basophilia

(B) Eosinophilia

(C) Lymphopenia

(D) Agranulocytosis
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The organ of the human body which
has the highest requirement of
glucose.

(A) Kidney

(B) Skeletal muscles

(C) Cardiac muscles

(D) Brain

Which of the following is the end
product of protein metabolism ?
(A) Glutamine (B) Ammonia
(C) Nitrogen (D) Urea

Glutamate dehydrogenase is
containing enzyme:

(A) Cobalt

(B) Magnesium

(C) Zinc

(D) Manganese

Specify the two parameters essential

for checking quality of uncoated

tablets as per I.P.

(A) Shape and Friability

(B) Shape and Uniformity of weight

(C) Friability and Disintegration
time

(D) Disintegration time

Uniformity of weight

and

As per the Drugs and the Cosmetics

Act, the HEPA filters are required to

filter the air in the pharmaceutical

manufacturing unit. HEPA filter of

Grade A filter is used for

(A) Aseptic preparation and filling

(B) Background room used for
preliminary activities

(C) Filtering liquid preparations

(D) Handling of components after
washing

A naturally occurring amino acid
which does not have a chiral center is
(A) Glycine (B) Alanine
(C) Tryptophan (D) Tyrosine
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The quantity of drug required to
make a 2% wi/w solution in 240 ml of
alcohol is (The density of alcohol is
0.816 g/ml)
(A) 1.632g
(C) 4.000g

(B) 2.400g
(D) 4.800g

Which one of the following drugs is
NOT a typical antipsychotic agent ?
(A) Chlorpeniramine

(B) Haloperidol

(C) Risperidone

(D) Flupentixol

A powdered drug has the following
microscopic characters: anther cells,
arenchyma, pollen grains, phloem
fibres, volatile oil cells and stone
cells. The powder is obtained from
which of the following ?

(A) Clove bud powder

(B) Clove bud powder with stalk
(C) Mother clove

(D) None of the above

Fatty acids are to be arranged in the

decreasing order (highest to lowest)

of their unsaturation, which one of

the following orders is correct ?

(A) Stearic acid > Oleic acid >
Linolenic acid > Linoleic acid

(B) Linoleic acid > Linolenic acid >
Stearic acid > Oleic acid

(C) Linolenic acid > Linoleic acid >
Oleic acid > Stearic acid

(D) Oleic acid > Stearic acid >
Linolenic acid > Linoleic acid

Which one of the following is largely
a beta lactamase inhibitor ?

(A) Penicillanica acid

(B) Embonic acid

(C) Cephalosporanic acid
(D) Clavulanic acid
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Which of the following represents

neurodegenerative disorders ?

(A) Parkinson’s disease and
Alzheimer’s disease

(B) Schizophrenia and Mania

(C) Alzheimer’s  disease  and
Schizophrenia

(D) Parkinson’s disease and Autism

Convert 90%v/v to Proof strength.
Choose the correct answer.

(A) 57.77deg under proof

(B) 57.77deg over proof

(C) 47.41deg over proof

(D) 47.41deg under proof

What will be the dose required to
maintain therapeutic concentration of
20 microgram/mL for 24 hr of a drug
exhibiting total clearance of 2 L/hr ?
(A) 96 mg (B) 480 mg
(C) 960 mg (D) 48 mg

Which one of the following is correct

regarding opium ?

(A) Opium is the dried latex
obtained by incision from
unripe capsule of Opium poppy.

(B) Opium is the dried juice from
the leaves of opium poppy.

(C) Opium is the dried water extract
of the shoot of opium poppy.

(D) Opium is used in the medicine
as diuretics and laxative.

S.0.S means which of the following ?
(A) Take occasionally

(B) Take immediately

(C) Take when necessary

(D) Take as directed

A drug whose solubility is 1g/L in
water, when given orally at a dose of
500 mg is absorbed upto 90% of the
administered dose. The drug belongs
to which class according to B.C.S
classification ?
(A) Class |

(C) Class I

(B) Classll
(D) Class IV
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Which of the given compounds can 60.

be used as primary standard for
standardization of perchloric acid
solution in non-aqueous titration ?

(A) Potassium hydrogen pthallate
(B) Sodium bicarbonate

(C) Potassium dihydrogen
phosphate

Sodium methoxide

(D)

Which one of the following is a False 61.

statement for competitive antagonists ?

(A) They have an affinity for the
agonist binding site on receptor

They have no intrinsic activity

They cause parallel rightward
shift of the control dose
response curve

Maximum response of the
agonist cannot be achieved in
their presence by increasing the
concentration of the agonist

(B)
(©)

(D)

Which of the following statements is 62.

correct ?

(A) Gallamine and Succinylcholine
are competitive neuromuscular
blocking agents

Succinylcholine and
Vecuronium are competitive
neuromuscular blocking agents

Vecuronium and d-Tubocurarin
are non-competitive
neuromuscular blocking agents

Gallamine and d-Tubocurarin
are competitive neuromuscular
blocking agents

(B)

(©)

(D)

Which one of the following is a 63.

tyrosine kinase inhibitor indicated for
a variety of malignancies ?

(A) Imatinib (B) Paclitaxel
(C) Ezetimibe (D) Mitomycin
13
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68.

Which of the following statements is

False for Fluoroquinolones ?

(A) These are highly effective by
oral and parenteral routes

(B) These are relatively more
susceptible to development of
resistance

(C) These are effective against
those bacteria that are resistant
to p-lactam and aminoglycoside
antibiotics

(D) These are bactericidal
broad spectrum of activity

with

Increased serum levels of which of
the following may be associated with
decreased risk of artherosclerosis ?

(A) VLDL
(B) LDL
(C) HDL
(D) Total cholesterol

Identify the group of enzymes that
utilizes NADP or NAD as coenzymes
and catalyzes biochemical reactions
by the transfer of electrons from one
molecule to the another.

(A) lsomerases

(B) Oxidoreductases
(C) Transferases

(D) Ligases

Glucose is the only source of energy
for one of the following :

(A) Cardiac cells

(B) Nephrons

(C) RBCs

(D) Thrombocytes

Among the following which one is
not only a non reducing sugar but
also does not exhibit mutarotation ?
(A) Glucose (B) Maltose
(C) Lactose (D) Sucrose
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69. A sample of paracetamol tablets

70.

71.

72.

73.

74.

75.

P-7

claims

to contain 500 mg of

paracetamol. But on analysis it was
found to contain 200 mg. As per
Drugs and Cosmetics Act, 1940, the
product would be categorized as:

(A)
(B)
(€)
(D)

Misbranded drug
Adulterated drug
Spurious drug
Unethical drug

Pulse is a direct measure of :

(A)
(B)
(C)
(D)

Breathing rate
Heart rate

Blood pressure
Cardiac output

In people suffering from Myopia, the
image is formed :

(A)
(B)
(©)
(D)

In front of the lens

In front of the retina

At the back of the retina
In the aqueous humour

Salk vaccine is used to prevent

(A)
(©)

Tuberculosis (B) Rabies
Tetanus (D) Polio

Haemoglobin is also characterized as

(A)
(B)
(€)
(D)

Positively charged sols
Negatively charged sols
Neutral sols

None of the above

Which of the following Vitamins are
insoluble in water ?

(A)
(B)
(€)
(D)

Vitamin D and Vitamin C
Vitamin B,, and Vitamin A
Vitamin D and Vitamin K
Vitamin C and Vitamin E

Direct exposure to sunlight raises the
body temperature because

(A)

(B)
(C)
(D)

Presence of melanine in the
skin

UV radiations in sunlight

IR radiations in sunlight

Body consists of 75 % water
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